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% fig 6-10 7.2-8.9 8.2 TE
HHEE (mgl) 100 <20 - 35 23 =
WElg 48 & (mg/l) 10 <2.0 <2.0 =
MEY&EE (ng/l) 2000 320 - 735 513 =
WAL 42 (mg/) 10 <0.5 <0.5 s
FELYEE (mg/l) 0.1 <0.04 -0.07 0.045 TE
YIRS E  (me/) 100 <15-36 19 s
HiHE (mg/) 20 <10 <10 =
Mm&EE  (mg/) 0.5 <0.3 <0.3 =
BEr R E (mg) 1 <0.6 <0.6 s
FmvEMER (mg/h) 15 <7 <7 s
EEFTARE (mg/l) 2000 <100 - 180 137 TE
HHIRE (mg) 200 <10-32 16 TE
(0 43 32-39 35 TE
IDE Y/ K= ZRIEFER | B DL |BEHELLT s
EEeB

ti (me/l) 2 <0.4 <0.4 2
. (mg/l) 5 <1 <1 TE
% (me/l) 0.1 <0.1 <0.1 =
#%  (mg/l) 1 <0.3 <0.3 =
i (mg/l) 2 <0.5-1.7 0.7 =
#5 (mg/l) 2 <1 <1 =
5t (mg/l) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 &
77 (mg/l) 2 <1 <1 =
PR (mg/) 2 <0.4 <0.4 =
¥ (mg/l) 5 <1 <1 =
¥ (mg/) 2 <1 <1 =
EaeBEEH# (mg) 10 <1.0-8.2 7.2 =
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B (mg/l) 5 2.0-4.0 3.2 =
#  (mg/) 10 <2 <2 ye3
REE
Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/l) 0.01 <0.01 <0.01 =
AR LWE (mg/) 0.01 <0.01 <0.01 =
EABHLEY -
REE (mgf) 0.1 <0.06 <0.06 =
HEMLEY
1,1,1- =& Z ¥ (mg/) 0.05 <0.025 <0.025 =
LEBE
% S5k 7R 48 & (mg/) 0.003 <0.003 <0.003 =
BHMEYE -
BEEHE (pc/l) 10000 <10000 <10000 =
#5-226 (pc/l) 30 <30 <30 =
#8-90 (pe/l) 100 <100 <100 =
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ok (mg/m’) 30 0.0 - 3.7 0.3 =
&AL (mg/m’) 200 0.2 - 105.0 8.9 =
EfE (mg/m’) 60 03 - 12.1 3.2 =
FALE (mg/m) 4 0.0 - 0.0 0.0 =
HELY
(ML= &1L & 3 &) 400 62.8 - 204.8 123.3 y
(mg/m’)
YA (mg/m’) 20 0.0 - 3.5 0.3 p
— & % (mg/m”) 100 0.5 - 684 8.3 p
(z) HHzE?
8k (mg/m’) 10 0.1 - 0.8 0.3 p
— & /EH (mg/m’) 50 28 - 23.7 8.8 p
EAf%E (mg/m’) 10 12 - 5.0 32 p
#HIEE (mg/m’) 1 0.00 - 0.00 0.00 p
HEEY
(ML= &1t & 2 &) 200 100.1 - 137.6 122.8 =
(mg/m"’)
Y4 R (mg/m) 10 0.03 - 0.62 0.25 =
— & (B % (mg/m’) 50 40 - 13.0 8.4 =
(W) Hft
AR ELEY
(LEREBEEFTFE) 24 <33 <3.3 yiss
(mg/m’)
AR BEEY
(LB tEaE2itH) 18.8 <15 <15 pes
(mg/m’)
?igr/if) g & st 50 37.5 <1.6 <1.6 =
4E B (DU TED) (mg/m’) 5.5 <0.19 <0.19 s
B CRAEE (mg/m) 5 <19 <19 p
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EEcBE—8Y

g f‘ii Ff)(% RO 0.05 <0.009 <0.009 -
EEsBEZH Y

fifl (mg/m’) 0.06 <0.002 <0.002 =

gfﬁi E)(%—iﬁm Z 0.5 <0.12 <0.12 =

K (mg/m’) 0.05 <0.002 <0.002 =

T (ng/m) 0.075 0.036 0.036 =
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B

8 (F &
A% i [ (/K) (Hft! B 10105 124 2

5)

30 (g% K&

B BT Y (%) (E;WE 63 - 92 75.6 2
)

EHELE
#% (ppm) 0.5 <0.5 <0.5 =
7K (ppm) 0.1 <0.02 <0.02 y=3
$E4EE (ppm) 10 <0.5 <0.5 =
#i  (ppm) <0.5-39 1.4
¥ (ppm) <0.5 <0.5
#f (ppm) <1.0-13.0 2.4
¢ (ppm) <0.5-0.84 0.53
S S LI 2 < ~
W8 (ppm) 25 <2.5-17.0 4.8 E
# (ppm) 20 <1 <1 =
WAEY) (ppm) 10 <5 <5 =
A& E (ppm) 10 <2.0-238 2.0 =
#21? (ppm) 5 <5 <5 =
B
H D A A
Ef;’x M H Y& 5000 <15 oy =
= (ppm)
B HKEEE _
(ppm) 10 <5 <5 =
f1E X ¥ = _
(ppm) 2 <2 <2 V3
% AWK (ppm) 1 <1 <1 =
TCDD (ITEF %) -
(ppb) 1 <1 <1 =




